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Element "4" - blok macierzy sztywnoSci

LX :=4m=4m Ly :=Y3 =-2.222222m

MLMzz\/(Lx)2+ (Ly) 2 = 4.575836m

EA | (Lx)? Lx-Ly 3173 -1763) kN
o= % J = i
(L)° | Lx-Ly (Ly)? ~-1763 979 m
Element "7" - blok macierzy sztywnosci
Lx:=1m=1m Ly = Y3—4m = —6.222222m
MLMzz\/(Lx) 2 4 (Ly)2=6.302067m
EA | (Lx)2 Lx-Ly 76 472 KN
Jo=— J = N
(L)° | Lx-Ly (Ly)? —472 2939 ) m
Element "8" - blok macierzy sztywnosci
Lx = 3m Ly = Y4— Y3 = 0.222222nm
MLMzz\/(Lx) 2 4 (Ly)?=3.008219m
N EA | (Lx)? Lx-Ly | (6282 465j KN
-— _ Rl
(L)° | Lx-Ly (Ly)? 465 34 ) M
Element "9" - blok macierzy sztywnoSci
Lx:=L9-sin (a) =0.802m Ly.:=L9-cos (a) = 1.443396m
MLMzz\/(Lx) 2 (Ly)2=1.651186m
EA | (Lx)? Lx-Ly 2714 4885) kN
o= J = i
3
(L)° [Lx-Ly (Ly)? 4885 8793 ) m



